log AY/Y)

log (Y/AY)

LABJNDu? triangle lightness T*

T* =L w nc=100,

T*L aganpu7 =[IN[A 1n+A2YV)I/(A 20A0n)] (Yn/100<Y<=Y,c)
T*N(3,6)=174,T* ,(18)=396,T*(90)=616

log[T*/T*]=0, m,=0,33
L* =49, T*,=396

aBpTic'ati'on'
ange

-
1
1
1
1
]
1
1

Y,=18
)

LABJINDu7

tristimulus value difference

Yoc=L*w - nc=100,
T*LaBaNDu7=[IN[(A 1n+A2aY)J/(A 20A0n)] (Ya/100<Y<=Y,c)
dY=Agn(A1ntAzY)  Ay=0,017, A,=0,0058
Aonpes=L.5, Apn a=1,0, see CIE 230:2019

a?)plication-

LABJINDu7
_ tristimulus value sensitivity
SHEYY Yoc=L*w - nc=100,

T*LaBaNDu7=[IN[(A 1n+A2aY)J/(A 20A0n)] (Ya/100<Y<=Y,c)
AYIY=Agr A 1Az Y Y

~ - -
|og(dY/Y)= —2,07, n\,——O,l'e~ e application
L LRSS S
=306, dY,=0,15 dY,/Y,=0,0084

1
1Y,=18
YN=36  Yy=90

LABJINDu7
- tristimulus value contrast
C,=(Y/AY) Yol w - ne=100,

T*LaBaNDu7=[IN[(A 1n+A2aY)J/(A 20A0n)] (Ya/100<Y<=Y,c)
YIAY=Y/A on(AntAznY)]

*,=396 0Y,=0,15 Y,/dY,=117_

10g(Y/dY)=2,07, m,=0,13 +-*
-

application’
range
L =18

' Yw=90

T LABJINDuU? relative triangle lightness T*/T*,,

T*/T*u YocmL*w nc=100,

T aganpu7 =[IN[A 17+A2nV)V/(A20A0n)] (Yd/100<Y<=Y,c)
T#N(3,6)=174.T* ,(18)=396.T*y(90)=616

log[T*/T,

L* =49, T*, —396

Iog(AY/AY )

" ogl(@Yy(@)=0, m;=0.8%

N=36 V=90

LABJNDuUTY relative
tristimulus value difference

Yne=L*w ne=100,
T*Laganpu7 =[IN[A 1n+A2nV)V(A 20A0n)] (Ynd/100<Y<=Y,c)
dY/dY =AgnlA 1ntAYI/dY,

AY/AY,

e a;plicatijn-
” 1 range
1Y,=18

log [AYY) I (AYIY),]

YN=3.6 . Yw=90

LABJNDuUY relative

tistimulus value sensitivit;
SISy =@YMIAYN), o dw S PR

T*Laganpu7 =[IN[A 17+A2nV)V(A 20A0n)] (Yd/100<Y<=Y,c)
(@YIYYAYY,=(AgitAg Y)Y (AYIYY]

3
\N
<

T
log[(dY/YY(dY/Y),]=0, m=-0,13 1 .

= - = application
*,=396 dY,=0,15 d¥,/Y,=0,0084 rapr?ge

1y,=18

log [(Y/AY) I (YAY),]

YN=3.6 | Yw=90

LABJNDU7 relative

tistimulus value contrast
CrlCru=(YIB(YIAY)y Y 21y =100,

T*Laganpu7 =[IN[A 1n+A2nY)V/(A 20A0n)] (Ynd/100<Y<=Y,c)
(YVIAYY(YIAY), = (YIYIAY Y)TA onAgrAgr VI (Y/AY),

logI(V/dYY(Y/dY)]=0, mu 013

' application
1 range
1y,=18

Yy=90




